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Total No. of Questions : 48 + 28 = 76
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| Time : 2 Hours 45 Minutes | [ Full Marks : 80 )
wenferl & fem Frdvr -

Instructions for the candidates :

l.

kD

qeleimt Zareve 3wyt o & 3 8

Candidates are required to give their answers in their own words as far as

practicable,
sl 3T aferd o R go s qoitw e v £
Rgures in the nght hand marygin indicate full marks.

Y RV @ wEyEE wgH & v whated & 15 fre & siffe g far
T &

15 minutes of extra time have been allotted for the candidates to read the questions
carefully.

4. ¥ 9¥F ¢t @v3} 7 &, SVE-N 0T WVF-A/
This question paper is divided into two sections — Section-4 and Section-B.
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FoF-37 & 48 arghre gy &1 @ @ el a0 sl @1 Iaw A 1 99F & foTg
137% fuifea &1 afe 1§ wherd 08 sifies wwt @1 3¢ 3 & @l wuq 40 A &
ST FT & qiaT 701 FAHT I IT A M OMR I-9F A g Mo awt g
¥ Fict/ w1 @t 47 @ wi i Reet Wt s & gamyeEr / aver aand / &8/ g
T &1 OMR I7v-umw W wair wvaw aaw &, wur whaw GfvmT ST AN

In Section-A, there are 48 objective type questions; out of which any
10 questions are to be answered. If a candidate answers more than 40 questions,
then answers of first 40 questions will be evaluated only. Each question carmes
1 mark. Darken the circle with blue / black ball pen against the correct option on
OMR Answer Sheet provided to you. Do not use whitener / liquid / blade / nall
etc. on OMR Answer Sheet; otherwise the result will be {nvalid.

FUS-T § 28 7Y Iwra 7y &1 T g wvr wMiw vmew &, 79T (TG WA &
ed 7 0¥ e famr & &1 9@ frag (saw era, e e o e ) &
XA FEA] T I A 1 A7@F F w2 o fuifa &1 7 e 5@ @vg F
6 3 Ieta ¥ it mu & ford ® 2 v wifw e &, 2 WA TATEA TR &
W& 2 qv7 i T & & wifiw sm & @ Iadie gvT & A 6 s, vATa
YT (e Ala faa & faw s o Fiifta &1 sdw R (wifrss s, waraw e
vd AT faAr) @ 0F-UF 99T 7 3T 37 Afrart

In Section-B, there are 28 short answer type questions. Oul of these, eight
questions are from Physics, seven questions are from Chemistry and seven
questions are from Blology. Four questions are to be answered from each subject
(Physics, Chemistry and Blology). Lach question carries 2 marks. Apart from
these, there are 6 Long Answer type questions in which two questions each from
Physics, Chemistry and Blology are there. l.ong Answer type questions from

Physics carnies 6 marks each, and from Chemistry and Blology carries § marks
each. Answer of one question each from Physics, Chemistry and Biology is

compulsory.
Fedt 9 & goiagitae IUHTOT 1 94hT quidar af &1

Use of any electronic appliances is strictly prohibited.
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YT - F / SECTION - A
FRf1@ WA / Objective Type Questions

RyT wear 1#4swmﬁwm#:nﬁ#ﬁ'ﬁ4onﬁmmhhmm
& @ v ey fro o § Frd | e agt & o qEr 97 T 8 R &t oMk
viiz v Rafesa w¥1 40x1=40

Question Nos. ] to 48 are of objective type. Answer any 40 questions. Each question has
Jour options out of which only one is correct. You have to mark your selected option on

the OMR sheetl.
1.

40x 1 =40

Pt o @ i wa@ &9 SRS v § 2

(A) A7 (B) Zn
(C)  Fe (D) Mg
Which of the following mctals is least reacted ?
(A} Al (B) 2Zn
(C) Fe (D) Mg
2. AT @I TIAN] HEAT B
'u\] 6+ (B) 8
(C) 9 (D) 11
The atomic number of carbon is
(A) 0 (B) 8
€ 9 D) 1
3. i ERGER (A FEA-EA ] & @ -3 # €, 9 Feerd €
(A) T (B) R
) U X D) 3T Q@ F @
Unsaturated hydrocarbons having triple bonds in between carbon-carbon atoms
arc called
(A) Alkane (B}  Alkyne
(C)  Alkene (D)  Nonc of these
[ 112 ]J [5012-J o) Page 3 of 20
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Y R fame e w R
A - on w -cio
) - coon oy >CO
The formula of functional group of ethanol is
AY - On B ~-CHO
(€) - COOHN o >C0
5. Sy wfdvem W g o }
A A @ dm e
€ &= /MR D)  m-diA-
The S.1. unit of the clectrical resistivity is
(A) ohm (B) ohm/metre
(C)  volt/metre (D) ohm-metre
o. FefefEa 3§} w1 frge = a9 sy 9@ & 2
(A TR B) ©®
(C) AR®HA ' (D) ™
Which of the following is the best conductor of clectricity ?
(A) Silver (B) -lron
(C}]  Nichrome (D)  Rubber
7. fagq um & oo vy @ o fae fea o 2
a) % (B) ME
(€ R O &
Who discovered the magnetic effect of electric current ?
(A) Faraday (B) Oecrsted
(C) Ampere (D) Bohr
[ 112 ]J |5012-J o) Page 4 of 20
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8. fagn mizz ofrafam swan @
A UitEE FAl @) faga s of @) ot Fe w faga s o
€ faga 5o ) et @t ) fage s @ aifE F g
Elecince motor converts
(A} mechanical energy into electrical energy
(B)  chemical cnergy into clectrical energy
(C)  clectrical encrgy into chemical energy
(D) clectrical energy into mechanical encrgy
9. ¥ 9fFaq H AR ied F3 vArafim Fo (arw-a) fER eer 8 m s
%) 3in Feifv & o7 & S dw @ e @
A} o @ AR (B) T & AN
(C) T (D) IRt
When positively charged particle | alpha-particle) is projected towards west and
deflected towards north by a magnetic ficld, the direction of magnetic field
willbe  hitp://www.bsebstudy.com
(A) toward south (B) tlowards cast
(C)  downward (D)  upward
10. €K T 7 5 g argfa i A &, @
(A) 220V W ez umr g & B) 12V W e urn gt @
JC) 220V W UEE VRIS E (D) 12 V W Wt YW g &
The domestic supply of clectric current is '
(A) dircct current at 220 V . (B) direct currentat 12V
(C) alternating current at 220 V (D) alternating current at 12V
| 112 ]J [5012-J q0) Page 5 of 20
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, \ 1 FA 8 7
11 Mt 7= ura ':;_';.‘; ¥ i'_"“t xn “\{ AR AR o 3‘![’m1’[ fm‘ﬂ f’:ﬂ “FT Hl m .

Ay aoare gy @) awet ad kg

() mm fg D) ¥ Fg A

In which day a solar water heater cannot be used to get h.ol watcer 7
(Al A sunny day (B) A cloudy day

(CI A hot day (D)  Nonc of these

12 FE R e t wa W s % ogem TR 2

(A) A TR B) wa@d FAl

(€ afvEm F - (D) I
Which of the following is not derived from the solar energy ?
(A} Geothermal energy (B)  Wind cnergy
(C)  Nuclear encrgy (D) Biomass

13, 2 & e i g0 W Rad g w st dh e g d A ag g e

(&) FAE A (B &AA HTAA
(C) Fad IA (D) T A FIAR 39E] I

If the image of an object is always erect for any distance of the object in front of

wod Apnysqasq mma//:dny
Wwod' ApnIsqasq mmam,//:dny

the mirror, then the mirror is
(A) only planc (B)  only concave

{Cy  only convex (D)  cither planc or convex

19, [FE @ @ R J g g Prefefea d e da g 2

(A)  wHadd 29 (B) I WS
(C)  EHAHA 9ol (D) WHAR a1 Iae 901

Which of the following is the mirror used in the headlight of a car ?

(A) Concave mirror (B) Convex mirror
(C)  Plane mirror : (D)  Planc or convex mirror
[112]J [5012-J wo) Page 6 of 20
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~1

18.

http://www.bsebstudy.com

(A} A (B) T

© = D) s
Which of the following has the highest refractive index ?
(A} Air (B) lce

(C)  Glass (D) Diamond

fratefan 4 & fea dn &1 shwan o #61 § 2

Ay IAA #H (B) #EAA AW
(€) I W Naad @ A (D)  AREEA TG

Which of the following lenses is called converging lens ?
(A)  Convex lens (B) Concave lens

(C) Both convex and concave lens (D) Bifocal lcns.

fa=fataa 9 &9 aygferd & 2

() FAS (B) TE
€y s (D)~ FGa
Which of the following is bisexual ?
(A) Earthworm (B) Frog
(C) Fish (D)  Tortoise

freet A 9 T 5 ferd form o A o 2

(A} #m - B A

© . I
Which plant is sclected by Mendel for his experiments ?
A)  Mango _ (B) Rose

(C) Whcat ’ (D) Pea

|| 112 | J |5012-J po Page 7 of 20
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19. 23 4 2 w5 s s k 7

W WA B

() M o @ e
Which onc of the following is a vestigial organ ?

(A} Backbone B) Thumb

C)  Ear (D)  Apendix

20. ‘fawwl sreE’ fewd e )
_IA) T dms B) TR W
C) ¥ o (D) eI

‘Chipko movement’ is related to
(A} forest conservation (B)  soil conscrvation

(C]  water conacrvation (D) afforestation

21 Fpafafan i @ o dw ® sda (e b )

u
(A) " B) uv

C) wu+vw (D) % _/

Which of the following is the magnification ( m) of a lens ?
u

woo Apnisqasq-mmm//:dny

W= B uv
(C) usv o ¢

22, fafefgadasme o smeamt )

o ® Y
) uafm ©) el

[ 112 ]J |[5012-J (o) Page 8 of 20

http://www.bsebstudy.com



wod Apnysqasq mma//:dny

http://www.bsebstudy.com

Which of the following is the coloured portion of an cyc ?

(A)
(€)

Cornea (B)  Rectina
Iris (D) Pupil

23. arqﬁsﬂﬁmwé;maﬂizmmvhmm#?

(A @ (B) e~
() Ul (D) AR
Light of which colour scatters more in atomsphere ?
(A)  Red (B) Blue
(C)  Yellow (D)  Orange

24, WERI F 60 v & wrw @i o awafas gERa @ am 2 e @@ far

& ?
(A WEH {B) mqqzr-ﬁu HFT
€ THNR (D) ArgHTEs S T 3

The sun is visible to us about 2 minutes before the actual sunrise due to which
phenomenon of light ?

(A)
(B)
(€)
(D)

Rellection

Atmospheric refraction

Scattering

Both atmospheric refraction and scattering

25. INfE amd Fam & seER awl & e Trefafea O e smd wem

gl & 2
(A) W] FENE] & (B)  TON] HEHIH
(€) THN] AER & (D) W&
According to modern periodic law, propertics of elements are a periodic function
of their
(A) Atomic masscs (B)  Atomic numbers
(C)  Atomic size (D)  Density
[ 112 ]J [5012-J a0 Page 9 of 20
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s which of the

& A B TF
(€ @=m D THE FI3 TR
The hornizontal rows of modern periodic table arc known a
following ? ‘
(A)  Periods (B) Groups
(C)  Shells (D)  None of these
27, R & FTN 4R & o @ aun & ol Fem 8 @ - ot e @ 2
(A) U e ® %z "mE
€ = = ya g D) FTH A -

Which of the following methods is suitable for preventing an iron [rying pan
from rusting ?

(A)
(€)

Applying grecasc (B}  Applying paint
Applying a coating of zinc (D}  All of these

28. Fafetfaa % fam v &1 arg @ s & wRn W T € 2

Ay Al {B) Nav

(C}] Mg (D) Cu

Which of the following mctals can casily be cut with a knife ?
(A) Al (B) Na

(C) Mg (D} Cu

29 feffEnddsmmFaalismgmmzmt 2

(A)

AC)

cl, (B) SO,

co, -~ @) o,

Which of the following gases turns lime water milky ?

(A)  Cl, B) SO,
(€ Co, | (D) O,
(112 ]J [5012-J o) Page 10 of 20
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greftw sne frfiafan F Q et arm wrm @ 2

30
(A)  ZWIRT (B) A
©  faam D) Tt
Tartanc acid is found in which one of the following ?
(A) Tomato (B) Orange
(C) Vincgar (D) Tamarind
7). feae @ vt ga ok
(Al CaS0,.3H,0~ (B) CaSO,.2H,0
€] CaSO,.10H,0 (0) T A F
The chemical formula of Gypsum is
Al CaSO, .g H,0 (B) CaSO,.2H,0
(C) CaS0,. 101120 (D)  Nonc of these
32 Faw A aeRgRe A & dr smnear @ et f @ 99 @ i fed 2
a0, (B) CO,v~
€ H, (D) N,
Which of the following is evolved when zinc reacts with sulphuric acid ?
(A) 0O, (B) CO,
(€} H, (D) N,
33 HAZTAF FH A FT-RIATEAE ?
W (B) AYIE
) @ (D) UTSH
Which discasc 1s caused by the deficiency of iodine ?
(A) Goitre (B) Diabetes
(C) Scurvy ' (D)  AIDS
[ 112 ]J [5012-J 1o Page 11 of 20
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M R ey frsgzd) fa @ fywert aen uich .
Ay gl enis ) kst
€) il D) g
Which one of the following is o hormone sccreted by pituitary gland ?
(A} Growth hormone (B)  Thyroxinc
(€} Insulin (D)  Androgen
W5 s R sk s faa fafe g e o
l.-'\‘ 11;{;!;{:‘ - ‘iB] ‘r]l-i 3|
(C)  FAEEH D) FE AR =
H
Which method of asexual reproduction occurs in amocba ? E
S
(A} Budding {B}  Fission é
(C) Sporulation (D) All of these =
\ . o
36. B & HA-T G GA § 95490 ¥ ) @
&
- - o :ﬁ
(A} gFIR (B) IR £
<
1) Herer (D) ATATIS e
- =
Which part of a flower changes into fruit ?
(A) Stamen (B) Carpel
(C}  Ovary, (D) Ovule
37 WWRI & gert 3 92 w6 @) T & @7 frifm e @ 2
A FIrET~ (B) W& FIIEHIG
(C) Ao e (D) ¥ W
Opening und closing of stomata is controlled by
(A) guard cells (B)  companion cells
(C}  sieve tubes (D) root hair
l 112 ] J 15012-J o Page 12 of 20
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18 98 R w9 s ) comms o frons v b
A=A By AwRm
() ™NESY (D) e
Which one of the following is structural and functional unit of kidney ?
(A)  Ncuron (B} Necphron
(C)  Glomcrulus (D)  Ventricle
39. WA w1 W IewE i faeifea 3w ¥ 2
w g B) &
-
C) T%Ug (D) Y
Main cxcretory organ of human beings in the following is
(A)  kidney (B) blood
(C)  swcat gland ’ (D) pancreas
w0 G
T Gl i e (B) A fom g
() 99% ™ (o) FEaEd
What is Androgen ?
(A) Malec sex hormone (B)  Female sex hormone
(C)  Digestive juice (D}  All of these
41, ¥4 fFm aivfEa & o fFaE w2 1§ sEdes # gig g &, @ Fetaea 5 @
F7 FE AAE ?
(A) I99g4 (B) AIYQ ./
(€ wEmm (0) ¥ A
| 112 ]| J [5012-J o Page 13 of 20
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W (4] the
l P knu“ﬂ an “thh [
ifn \llb!'lunﬂ.‘ gains oxXygen dunng ] [t‘ll-Cll-l'l". then i

following ?

(A) Oxidation (B) Reduction
(€)  Corrosion (D)  Nonc of these

A2 SUE & p)y WA R R
W 7w B 7R T

7 D) 14

The pH value of an acid is
(Al Jessthan 7 (B) more than7

7 0 14

a3 Wi @ W w sfae R
A Na,CO, (B) Na,CO,2H,0
MG Na,CO4.10H,0 ~ (D) Na,CO,.5H,0.

The molecular formula of washing soda is

(A} Na,CO, (B) Na,CO,2H,0

wod Apnysqasq mma//:dny

(C)  Na,CO,.10H,0 (D) Na,CO,.5H,0

aa rnpmﬁwémqmmu\mk,ﬁﬁm:&qdmmmﬁmhm

woo Apnisqasq-mmm//:dny

e
A)  WeIR® 3w v 1Br T A
) felgw D) FEFAEE 3
Bee-sting lcaves an acid which causes pain and irntation. The acid is
(A) Mcthanoic acid (B) Ethanoic acid
(C}) Citnic acid | (D)  Oxalic acid

[ 112 ]J [5012-J o Page 14 of 20
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as 3@ 3TN s &9 wegm b o

(A) TR gTO B ¥
& FEm s (o) %I
How docs amocba catch its food ?
(A) By tentacles (B) By tonguc
(C) By pscudopodia (D) By mouth
a6 ®A-T CARH 7w T frar wrm § 9
A i B) Bam
(C) (D) UHRAA
Which cnzyme acts upon fat ?
‘(A)  Pepsin (B) Trypsin
(C) Lypase (D) Amylase

a7, fFa TR & e A S o g R § 2

JA)  ATEEE (8) ¥FawET™
(C)  (A)Ud (B) ZFT (D) V¥ 4 F T
Which type of respiration rclcases more energy ?
(A)  Acrobic (B) Anaerobic
(C) Both (A) and (B) (D) None of these
48. WO & T E
W e B frees
(c) @ D) &
Respiratory organ of fish is
(A)  trachea (B) gills
(C) skin (D) lungs
[112]|J (5012-J 20 Page 15 of 20
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WUTY - W / SECTION - B
v yire / Physics
®Y INHT W / Short Answer Type Questions

”’?mmamnqmw;mawmﬂmf:mm*ﬁv

2 5% Foifia 1 4x2=8
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each question
cames 2 marks. . i1x2=8

g

W A 150 A0S @ R S § gy aw §i @ w0 BT
ferrll & 2t & et @ 961 31 108 mys B 2

Light cnters from air to glass having refractive index 1-50. What is the speed of
light in the glasy ? The speed of light in vacuum is 3 x 10% m/s. - ,
I 7 & 2F W Rem o & i a9 ) o @ Feewr o @i 2

2
Druw u ray diagram to show image formation of an object placed at 2F ol' a
convex lens. .

3. fmﬁﬁwm#mﬁqmw&mmm@"ﬁh 2
Draw a labelled ray diagram 10 show lh.c refraction of light through prism.

3. Tt siefeer 2 w1 s A 2 orten e o v Bk 2
Why docs the sky appear dark instead of bluc to an astronaut ?

5. mqﬁsmwhfmﬁhﬁw%ﬁrﬁm&rwmmmﬁﬁm
Hal €1 http://www .bsebstudy.com 2
Nare the device that helps 1o maintain a potential differcnce across the ends of
a conductor,

9 e e 3 il & Fretor s o et 1 ) i e Py e & 9
Why is tungsten uscd almost exclusively for filament of clectric lam.p ?

[ 112 ]J [5012-d 1o Page 16 of 20
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joo TR ® o et 2
State the principle of an clectric motor.
p I WA F m g o

Wnite the names two CNCrRY sources

‘ ¥ Tl wr ! Long Answer Type Questions
W WO 9 A 10 O Fdte myr #) g @ fot o o IAT &1 AR W & FT
6 3% Fraifea | I1x6=6
Question Nos. 9 and 10 are Long Answer Type questions. Answer any one of them. Each

question cames 6 marks, ] x6=6

PR R L R g G— R R B R R

L

Ty | 6
What 18 short sightedncss (m)'o.pia] 2 What are its causcs ? Explain the method
of removing this defect with dingram.
10, 3W & o fd | v wRm & T o i @ aiE &4 6
Writc Ohm's law. Explain an cxperiment l'or. its verification.
. TQ A |/ Chemistry
WY IAY W / Short Answer Type Questions
Y WeAT 11 ® 17mﬂqﬁﬁuflﬁﬁﬁﬁﬂﬁ4wﬁtmilmtm
2 3% fraifa tl 4x2=8

Question Nos. 1] to 17 are Short Answer Type. Answer any 4 questions. Each question

cames 2 marks. 4x2=8

1. fwmﬂqa'ﬁ:famqﬂmﬁtﬁmsﬂﬁwmt?ﬁuﬁmaﬁ#m
fafgu | 2

*

What is the difference between displacement and double displacement

reaclions ? Writc cquations for these reactions.

| 112 | J [5012-J o Page 17 of 20
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P et i ferd wieform Tt et ff I+l
W HFw wrne i wE @ wm s w8

b e agRS A SRR & A SR S €

Write balunced chemical equation for the reaction taking place when —

4] Sodium sulphate reacts with Barium chloride

b} Calcium hydroxide reacts with Carbon dioxide.
N T o w e R w ammm: @R e e @ 2 T
% W T | 2

Which gas is usually liberated when an acid reacts with a metal ? lllustrate with

an example. -

FIN A &1 77 T & oy Forg wifeqw dfre w1 I fEw Am ¥, TEw A
ferd 2
Name the sedium compound which is used for softening hard water.

et 34 ) 2
What is Anodising ?

faw & 31rumuﬁ$zéﬁhmﬁzmﬁﬂwﬁmk?&ﬁmmmﬁm

wHERY o 2

What happens when zine s placed in iron sulphate solution ? Write the
chemical equation of the reaction.

A T W & e g

Write the structural formulac of bromopropane and propanonc,

[112]J !5012-J @o)] Page 18 of 20

http://www.bsebstudy.com

woo Apnisqasq-mmm//:dny



wod Apnysqasq mma//:dny

http://www.bsebstudy.com

nd Al Long Answer Type Questions

oy NS 18 A 19ﬂ6mﬁvt:mdwwmmffmm*ﬁv
5“%?!

I .%' ) I n
Qut'\ won oS 8 Gﬂd 19 (lf! L‘}ng An.!w'cf ll,\‘j’)c. An’ur nﬂy one Oflhcm E‘]Ch ‘mc$l:0
N 5 -

18 AN W w rarat ) ? & R A fafu, o o @ fedy s

1 x5=8§

What 1s the chemical name of baking soda ? Write its preparation, properties
and uses.

19. -/ fa vy @ o & ? 30 T X &) s urg & A I5ami @ ave &1 s
What arc alloys ? Give its two cxamples. Explain three uses of alloys.

e fawe / Blology
Y IT WA / Ghort Answer Type Questions
T WS 207 26 T AY Iwviq §1 3 R AT 4 WAL & 3T &1 9RE 0 &

2 357 fife 1 4x2-8

Question Nos. 20 to 26 are Short Answer Type. Answer any 4 questions. Each question

carnies 2 marks. 4x2-8

20. WEM GOV € 2 3@ few & b weiler fad 2
What is photosynthesis ? Write chemical equation of this process.

21, it @ 2 2
What is oxyhacmoglobin ?

22, Wmem 3N Feiten F w1 HA X 2 2
What arc the diffcrences between xylem and phloem ?
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A A R e wn awwd b2 3w £

\Vhﬂ‘ d() you mean by hombm' or‘m 7 Oi\‘f g_umplcs
ST Seren wq § 7 qu e SR A ¥ ST &

What is [50d chain ? Give an example of terrestnal food chain.

=i w3 ko

What arc the strategies of water conservation ?

W % o wd S

Write two lunctiona of blood.

it swfia w= |/ Loag Answer Type Questions

=
<] WA Wear 27 vw 28 07 T £ pad @ feet ow et e &1 oRiw o & R
é s %% Fraifta ¢ Ix5=5§
<
o Question Nos. 27 and 28 are Long Answer Type. Answer any one of them. Each question
w
& cames S marks. ’ I x«5=5
]
£ 27w & i fafu ® ool wt) 5
<
8 Explain the method of urine formmation in human beings.
= 28,  WAT & W A A W A fax gy 5
Draw a labelled diagram of female reproductive system of human beings.
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